=8 NE

LeaderSamco - VM06

SC-WS

SC-WS LeaderSamco- vmos
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20
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26
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PID

32

33
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37



LEADERSAMCO-VmO6

m SC-WS

8

( SC-WS)

PID PLC

AC250V

RY8



2-1

| SANKENSAMCO-VmO06 15 CHARGE
AN

2-2

m VM06-0022 0185




1 M4 1

2 ( 2

3 2

4 SC-WS 2 M ) SC-WS
4

5 3.2-1 M4 SC-WS

m VM06-0220 0900

1 M4 5

2 ( 6)

3 2 M 7

4 SC-WS 2 W2 , SC-WS
8

5 7-6.5 M4 SC-WS



3-1

SC-WS
—
—
N/
/
—
N /
mCM1L 4

CM1



3-2

5.8kgf- cm TB1
AWG24 12
3-3
1
RY1 8
cM1 4




(F8007=1 4)

D01 DO3 F1509 F1511




(F8007=9 10)

I I

D01 DO3 F1509 F1511



5-2

MC™

AC

DI1

D02

MCO

LV

.
OFF

MC”

(  Sc-ws
F1108(

MBS

F800O7 1 3 5 7 9 11 13

DI1 DI8

D01 DO3

“ FR"

F1414 F1421
F1414=1

F1509 F1511

F1510=11

)

MBS



ON

ACM1

MC”

ACM2

(F8007=9

ON

14)

-10 -

MCCB

MBS



4-1
2

No.

1001 1 40 (1) SC-Ws 1

1002 1 10 21 22 1 SC-WS 1 10 21 22

1101 13 1

1111 1 3 1 SC-Ws 2

1202 1 99 1 17 18 19
20

1401 (VIFL) 0 +600Hz O VIF1

1402 (VIF1) 0 + 600Hz 60

1403 (VIF2) 0 +£600Hz O VIF2

1404 (VIF2) 0 + 600Hz 60

1405 (VIF3) 0 +600Hz O VIF3

1406 (VIF3) 0 +* 600Hz 60

3001 | PID1 1 99 (1) 1

3002 | PID1 1 99 (0)

3003 | PID1 0 100 0.1 P

3004 | PID1 0.01 100 0.1 1

3005 | PID1 0 100 0 D

3201 PID 0 50 1 PID1

8001 RY3 0 99 1

8002 RY4 0 99 5

8003 RYS 0 99 6

8004 RY6 0 99 8

8005 RY7 0 99 10

8006 RY8 0 99 12

8007 0 15 0 OFF

0

8008 M1 Ooril 1 0 M1( )

8009 M2 Oorl O 0 M2

8010 M3 Oorl O 0 M3

8011 M4 Oorl O 0 M4

8012 M5 Oorl O 0 M5 12

8012 M6 Oorl1 O 0 Me 12

8014 M7 Oorl O 0 M7 ( 12

8015 Te 0.10 2.00sec (1.0sec) MC

8016 Ta 0.1 10.0 min (5min)

8017 T 0.1 10.0 min (5min)

8018 20 95 % (50%)

-11 -




8019 Te 0.1 10.0 min (5min)
8020 Ta 0.1 90.0sec (5.0sec)
8021 To 0.1 90.0sec (5.0sec)

-12 -




4-2

wn
(P
=
w

SC-Ws F1001=1 V/F
[Foez_:
SC-WS  F1002=11 20( )
(F8022 F8029)
F1002=1
F1101=2 VIFL 0 5V
F1101=3 VIFL 0 10V
F1101=4 VIF2 0 5V
F1101=5 VIF2 0 10V
F1101=6 VIF3 0 5V
F1101=7 VIF3 0 10V
F1101=8 VIF1 4 20mA
F1101=9 VIF2 4 20mA
F1101=10 VIF3 4 20mA
F1101=21
F1101=22
F1101 11 20
1
sc-Ws 2 ( )
(VIF1)
(VIF1)
VIF1 (F8022=0)
(VIF2/VIF3)
(VIF2/VIF3)

VIF2/VIF3

(F8022=0)

13-

F1111=2

F8022 0

F1111=1

F1002



F1202

. F1202
F1202=17 [MPa]
F1202=18 [MPa]
F1202=19 [MPa]
F1202=20 [H]
F3002 PIDL
. F3002 0 F3002 1 9
F3002 1  VIFL 0 5V OV F1401(F8022=0 )  F8023(F802220 ) 5V
F1402(F8022=0 )  F8024(F8022% 0 )
F3002 2  VIF1 0 10V oV F1401(F8022=0 )  F8023(F80222 0 ) 10V
F1402(F8022=0 )  F8024(F8022# 0 )
F3002 3  VIF2 0 5V OV F1403(F8022=0 )  F8023(F802220 ) 5V
F1404(F8022=0 )  F8024(F8022% 0 )
F3002 4  VIF2 0 10V oV F1403(F8022=0 )  F8023(F80222 0 ) 10V
F1404(F8022=0 )  F8024(F8022# 0 )
F3002 5  VIF3 0 5V OV F1405(F8022=0 )  F8023(F802220 ) 5V
F1406(F8022=0 )  F8024(F8022% 0 )
F3002 6  VIF3 0 10V OV F1405(F8022=0 )  F8023(F80222 0 ) 10V
F1406(F8022=0 )  F8024(F8022# 0 )
F3002 7  VIFL 4 20mA 4mA F1401(F8022=0 )  F8023(F8022# 0 )  20mA
F1402(F8022=0 )  F8024(F8022% 0 )
F3002 8  VIF2 4 20mA 4mA F1403(F8022=0 )  F8023(F8022% 0 )  20mA
F1404(F8022=0 )  F8024(F8022% 0 )
F3002 9  VIF/VIF2 4 20mA  4mA F1405(F8022=0 )  F8023(F8022% 0 )
20mA F1406(F8022=0 )  F8024(F8022% 0 )
F3201 PID
e  “ SC-WS’ F3201=1 SC-Ws PID1
F3201=0
F3201=1 PID1
F8007
. SC-Ws
Sc-Ws F8007 0 SC-WS F8007 O  SC-WS
F1001=1 F8007 0 F1001 1

-14 -



F8007

F8007=15
F8022 F8023 F8024 F8025
F8026
1 F8007=15 PID
2 F8007=15 SC-WS F8007=15
3
OFF
No
0
1
2
3
4
5

10

11
12

13
14
15

-15 -




()
F8008 8014=0 F8008 8014 1
F8034=1
1 M F8007 1 8
5 M5 6 M6 F8007
7 M7 F8007 5 14

9

-16 -

14

F8014

F8008

F8012 F8013



[P0 | T

e F8020
(F1011)
E T
e F8021
(F1011)
EERN e
o F8022 SC-WS F8022 0
= * F8024 / F1007
F8024 Pg F1007
. F8022 0 F8022
EEl P
. F8022 F8023

- 17 -



° F8022 F8029 F8027

e 8028
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° F8032 F8033
DO3(F1509 F1511) “ 127 ON

° F8008 F8014
F8034=0 F8008 F8014
F8034=1

DI1 DI8(F1414 F1421)

F1414 F1421=49:  ML1(PM1) 50:  M2(PM2) 51:  M2(PM2)

52:  MA(PM4) 53:  M5(PM5) 54:  MG(PM6) 55:

. ON OFF
.

Q) 1m F8007 1 8 F8008

b) 5 M5 M6 F8007 9 14 F8012 F8013
) 7 W F8007 5 14 F8014

-19 -

M7 (PM7)

D01



5-1

2 6
INV
MC

F8007=9

M1

-20 -

)

MCO 7



MCO(RY1)

36 INV
AC380V MC1(RY2)
50Hz M1
MC2(RY3)
MC3(RY4) O
M2
MC4(RY5)
MC5(RY6)
M3
MC6(RY7)
MC7(RY8) O
M4
F8007=9,10
MCO (RY1)
M1
F8007=11,12
MCO (RY1)
®
F8007=13,14
13 14 MS SC-WS
DC24V  50mA (RYX)
MC(MC8)

-21 -



5-2

F8022  F1002 F8022 0 ,  F1002
F8022=0 F1002

4

F1002
1 (  F2101 F2116)
2 VIF1 0 5V (  F1401 F1402)
3 VIF1 0 10V or (  Fl401 F1402)
4 VIF2 0 5V ( F1403 F1404)
5 VIF2 0 10V or (  F1403 F1404)
6 VIF3 0 5V (  F1405 F1406)
7 VIF3 0 10V or (  F1405 F1406)
8 VIF1 4 20mA (  Fl401 F1402)
9 VIF2 4 20mA (  F1403 F1404)
10 VIF3 4 20mA (  F1405 F1406)
22 AD2 AD3 (F2101 F2116 )
23

F8022 F8029 F3002 9

5

F3002
1 VIF1 0 5V F8023 F8024
2 VIF1 0 10V F8023 F8024
3 VIF2 0 5V F8023 F8024

-22 -




SC-WS F1002  F3002

6 SWS F1002  F3002
F1002 F3002

0 1 2 3 5 6 7

1 X ) o fe) f¢) o [¢)

2 X X X ) f¢) ) X

3 X X X ) f¢) ) X

4 X ) o X f¢) ) [¢)

5 X o o X o o o

6 X o o o X X o

7 X o o o X X o

8 X X X o o o X

9 X o o X o o o

10 X o o o X x o

22 X o o o o o o

F3002=0
F1002=1 F3002=8 F8022# 0 F8029=0
N MPar . PID R
F8022 F8027 F3003 3005) -
(F8025 F8026) (F1007
1008)
/ MPa
4 20m) (F3007)

(F8023 8024)

F1002=1

-23 -




5-3

° RY1 F8007=9 14 F8008=0
ON OFF F8009=1 RY3 ON F8009=0 F8010=1
RY5 ON

. (F1103) (F1104)
F8022 F8029

°
(F8020) PID
° F1102 2

PID

e Flll1= ( ) (F8021)
e Fllll=
e F8007 13579 11 13 SC-WS RY2 8
e F8007 2 46 8 10 12 14
e F8007 5 8 11 14
F1111=2 F1111=2 F1111=1

) 0.00Hz DRIVE
° F1104 > 0

. STOP (F1101 2)
OFF

. LV 2 LV ( LV ) MC*
LV

. LV RYL 8 (F8007=13 14 ) OFF

- 24 -



LV

° F1414 F1421=7 RST LV
RST DCM1  DCM2 RST
° LV F1108=1
2 MBS
e STOP LV LV
STOP
LV
RST DCM1 F1108
LV LV
LV RY
LV RY
Lv
LV or LV
LV Lv
LV Lv
1
2 (F1108=2)
LV SC-WS
) (F8007=1 8) RY1
) (F8007=9 14)
o OFF
LV
)
) LV ALl
10
OFF F8015 5
ON RY1 F8015 5
RY2
°
° SC-WS LV STOP
OFF LED
° (F1307)

-25-



5-4 PID

o ( ) PID (=
(F1007) F8016
F8028
F8007
1 8 F8021 (
(F1008)
9 14 F8015 (To) Tuc
F1012 1019
PID
1
2
. ( ) PID
F1008 F8017
F8028
F8007
1 14 F8020
(F1007)
PID
3 F8007=1,2,5,6 F8007=3,4,7 14
. ( ) PID
F8017 (T
F8028
F8007
5 8 RY8(F8007=5
11 14 ( 8,11 12 )
) (F8007=13,14 )
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. ( ) 6)) P16
F8019 (™)
F8007
5 8 F1012 26
11 14 RYS  UPF
PID
5-5
[}
. F8032
. F8032=999 5
F8032=999
. F8032
[}
F1202=20
. DI1 DIS(F1414 F1421) “ 43 (TCL)”
ON

“ TCLH 1 ONu
1 ONH
1 TCL”
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F8032

ON
gate off
F8032
F8007=0
F8032 0
ON “ TCL”
1

F8008 F8014

F8032
F8033

-28 -

INV




DO1
F8033=120 F8032
F8032
1
2
F8033
4
5 F8033
OFF
5-6
F8007
. F8007 0
, F8008=1

° F8007 0

F8001 F8006

F8007

-29-

DO3(F1509 F1511)

F8033

F8033

“ 1211

ON

(F8032)

z0

F8033

F8033

RY1

F8033



“ ” i

60

L=ON"

60

F8007=3,4,7,8

F8007-1,2,5,6

OFF "

LED “

D01 DO3(F1509 F1511)

“

-30 -

” “ H=OFFH

60



OFF

ON

1 ONH
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SC-WS
F8022 F8029
1
FbEr
SC-WS(F8007# 0) (F8022=0)
FbEr
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SC-WS

No. No.
1 F1001 1
2 F8007 1 14 15
3 F3201 PID1 1
3 8008 8014 lor0 F8034=1
4 F8015 1.00 sec MC
5 F1101 lor2
6 F1109 2
7 F1007 45 50 Hz
8 F1008 20 35 Hz
9 F1012 5 30 sec
10 F1016

-33-




33 F8028 0.0 %

34 F3003 0.1 5.0 1Mpa

35 F3004 0.1 5.0

36 F3005 0

37 F8016 1.0 5.0 F8030=
38 F8017 1.0 5.0 F8031= 2

39677
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ON

ms
0.1 0.2 “ Lu X"
MBS MC
“ ” —Oﬁf
1 2 3 4
F1101 F1101=2 F1101=1 F1101=2 F1101=1
MC*
MBS MC*
( ) ( )

HD

F1108=0 F1108=0 F1108=1 F1108=1

F1102=1 F1102=1 F1102=2 F1102=1 or 2

F1105=0 sec F1105=0 sec F1105=1 sec F1105=0 sec

Lu F1706=3 F1706=3 F1706=0 F1706=0

(Lu )
(Lu )
(Lu )
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SC-WS

(F8007=0)  6ch (RY3 RY8) F8001 F8006
F8001 RY3
F8002 RY4
F8003 RY5
F8004 RY6
F8005 RY7
F8006 RY8
RY1 RY2
°
Code No.
F8001 (RY3) 0: 1
F8002 (RY4) 1: 1 2 3 5
F8003 (RY5) 4: 2 5 ¢! ) 6
F8004 (RY6) 6: 1 8 ) 7: 8
F8005 (RYT) 8: (F1704 ) 10
F8006 (RY8) 9: ( 80%) 13
10
11: 12:
13:
14: 15:
16: 17:
18:FR 19:RR
20:2DF 21:3DF
22:5DF 23:9DF
24:AD2 25AD3
26:J0G 27:MBS
28:ES 29:RST
31: 32:
33 35
36: (F1704
37 99:
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CHARGE
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2021 9 Ver-VA233
TEXC-SC-WS -003B
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